stress test

1. 2 A Fo| A o|ZA] S BE T2 HY 5. z(y+3z) —yRr +1) —2(2? —ay —4) & 7
S92 W, 2 9 A%} oy o Al e
@D 3(2a%2-1)
1 -1 2 -2 4
® 1+i2 @ @ ©) @ ®
x
® 6a®> —a+1—6a®
@x(m—%)—xQ—&—l
1, 1 6. (3 —4)— (z+3) S sl shw?
® 59"~ Sy 1
® 22z-1 @ 2z +1 ® 2212
@ 22+7 ® 20-7
2. O F RS ALY
@a%(bxc):%b @ax(b%c):%b
®@shre=% @ (a%b)xc:% 7. o[ |oro] orgre wre mdolat
@a+(b+c):a—b S — — o = ~ ~
‘ G Al Aol B EolA stel
o vy e[ ekw sk, AeA
do A |olet g
3. 1 1 Q] O x10] 7Z}FL 3
azi,bz—i = th E}E‘ “I"] H/\E‘:ILO]'OS{%

a—[3a—{a—2b—(Ta — 4b)}]

O (x+2)2=2%+42+4
@ (x—3)?%=22-6x+9
® (xr—1)2=22-22-1

@ (z+2y)? = 2% + 4oy + 49?

® (x —5y)? = 22 — 10xy + 259>




@ S = 16ab — b2 @ S = 16ab — 22

® S = 16ab — 3b2 @ S = 16ab — 4b?

® S = 16ab — 5b?

9. 102x98 = At o, 54 A= ol-85ke L jirh

@ (a+b)?=a?+ 2ab+b?
@ (a—0b)?=a?—2ab+b?
® (a+b)(a—1b)=a>—b?

@ (z+a)(z+b)=2>+ (a+b)x+ab

® (azx +b)(cx + d) = acx® + (ad + be)z + bd

10. o= Al AHE W, a+ b+ c o] &=

< ) byczm

Tatolat,

11. b3\ 8 8
(”) :y% A, b a o S Fotofet.

13. A4 a,b o Histe] 32 — 5y — {y — 2(2z + 3y)} =

ar +by & W, a+b o] S Fotoi=t




—(a—5b) =a+5b
—z(=3z +y) =322 — 2y

22(3z — 6) = 62% — 6z

—x? + Txy — 22 + 3y? + 12y

—z(z—y+2)+3yRe+y+4) =

3z(2x — 3y) — 2y(x + y) = 622 — 11lay — 2y>

19. o5 27 S A7t M 2 A

Az vt A2?

Q@ 4a x (—6b)
© (=5z) x (-2y)?
© (—2ab)® x 4b

C) (—;ab>2 x (3ab)3

® 0O, O
® 0, ©

® 0,0
® 0, e

® e, e

16.

wo] 7420 dol7t 3 , Al
A o] Bu]7} 1843 — 15a?b =il
o, =o]& +otoizt,

7
/
Z_2a

17. 2 =57 +1, y =22 +1 d oy & Ao R

UER ) 9 A o] 4

@ 2472 o] 5
® 262+ 9] 5
©® 2872 9 5

18. 2x 23 x 22 =128 &

®1 @ 2

2017172

@ 2572 o] 5
@ 272 9] 5

o, z 9] 3f2?

® 3 @ 4 ® 5

20. o= vEAE
Bx—5y):T=(x—y):2

y o Tote] Folet

22. T A g, y ol iate] «, A B axy = (Szy? +4ay?) +
~dry 2 AFOJE o,

2zy , Ay = (122%y — 8x%y)
wiﬂﬁ%‘?
(z*y) + (zAy)
6y + x 6y —x
6y + 6y —x
6y + = 3y —=x
6y — x Jy+zx

6y — x
6y + x




23.

24.

25.

A (21, 1) , (22, y2) o HASFA (21, y1) %
(22, 92) = 2122 + @132 + 122 + yrye 2 ] AL
ol W, (2z, y) x (—y, 3v)E 75| SHH?

4
1

@ 76$2+2l’y7y2 @ 76I2+I’y+3y2
® 222 —xy —y? @ 622 + xy — y°

@ 6.’1}2 —,’L‘y—|—3y2

O 222 — 4oy — 29 @ 222 — day + 22
® 21‘2_4ij+y2 @ 2x2+4$y+y2

S o3 A, B ol thste] A = —a+3b, B = 2a—4b+c
A o, 2(A+B)— (A+B) Ea,b,co T Aoz

e H?
Da-bte @ 10b—c
® 5a—9b+3c @ 1la—9b—c

® 9a—11b+¢




